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Unit One: Linear Inequalities
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2. Graph the inequality:

a. yv=—4x+5
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3. Given the following constraints, graph each:
a. :

-
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A
4, Inorder 10 ensure optimal health for your puppy
a lab technicien recommends to feed the pup o daily diet containing o minimum of 24 groms (g) of fat,
36 g of corbohydrates, end 4 g of protien
The pup should be fed no more then five ounces of foed a day.
Rather than order food that is custem-blended. it is cheaper to order Food A and Food B, and blend them
for an optimal mix
Food X contains 6 g of far, 12 g of cerbohydrates, and 2 g of protein per ounce, and costs $0.20 per cunce.
Food Y contains 12 g of far, 12 g of carbohydrotes, and 1 g of protein per ounce, ot a cost of £0.30 per ounce.
What is the optimal blend?

Conslraints
fatt Gr+12y224
carbs: 12v = 12y > 36

protein' 2v = |y > 4
the maximum weght of the
food is five cunces, so: X~V <3

se Sy Lrl ) =15
Optimization 5) ﬁl:‘f) 312

optmization equaton will be the i
ﬁ>

cost relation C = 0.2 = 0.3y,
and we need the minmum value /A2
_ (o JFro
Minmar (4,0) <o
2 of Food X
1 of Food Y
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Conslraints

the maximum weight o e
food is five ounces, so: xFy <5

Optimization
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5. For every bouquet that is sold at a fundraising banqu

to charity. The organizers goal is 1o raise ot least $8000. The organizers need to know how

tickets must be sold to meet their geal.

a) Define the variables and write c linear inequality fo represent the situstion

b) Graph the linear inequality . The first coordinate is the number of ' [ ' ' £
bouquets and the second is the number of tickets e

X= ¥ bougut it
i bl
O+ |%ld.?-39“0 _ |
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ool O %o
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et, $5 goes to charity. For every ticket that is sold, $18 goes
maony bouquets and
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Unit 2: Quadratics
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2. Fill in the following: Show your work on o separate sheet when you change to stendard form

Function | & | Opens | Vertex | Axis of Range Stendard form Max/ | ¥
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Trigonometry
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11. Determine the measure of the gbiuse angle ot A

in triangle PAL
. . 6
Suifh . s 3t
/ -

“‘ ) A

conh- H13wdl

)A
S A =096~
A= s’ 0 90k A

050 etk L 140°k5
A G

12.
100m

tan 34e = 1@
y

y =100
tan 340
y=148.3m

148.3m - 67.5m = 80.8m
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Unit Four: Geometry

I8 Determine the measure of all unknown angles

. Detemine ZDCE and £CAB? 3. Determine the correct measures of the interior angles of

3 IR
A A
79 n £
°
C

'L'I a. Determine the sum of the measures of the interior angles of this polygon.
* b. Are cach angle the same measure

(a) 180(8-2) = lo %0

(6)NO , Sidsoane nfr’raruue

*5 - Each interior angle of a regular convex polygon measures 144°.  How many sides does the polygon have?

ol 150(n-D) . 44 1051des
: : \ T 5
(ﬁ' Determine the value of b. ubo “la !@("h-— (0.; ll_:l_q{;?”
2= 3 4 /8D =3%C sl
180(b-%) = 2 1500 —144 “

A ot 3[‘," =
_.-7—{? =z IZUD | _ @
G s> 19082 b= 185”
=% g 3¢ ’
7', Determine the mmsur:q;f ZBDE. (g . Determine the values of a, b, and c.

A
e 114'[5_(91»0\ F
5 66
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9): Determine the value of x. 1 O‘J. Determine the value of x.
3z+—1o+4~1.-2§ +2x¢30= [$0 Vot v 2 = I
q;:-:;%% 3 3x+75=1%0
Y=l 3K= 108
x=3§"

1 1 . Determine the sum of the measures of the angles in a 13-sided convex polygon.
Show your calculation. J’f 0 C [3- 2_)
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14. GivenBCIIEF

Stackeerd | readon
£1 =43 BC U EF | g
Prove: ABIIDE e Guins
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15, Given £z =115°
Determine the measures of .

L0250

1¥0(n-2)
o
"%@0: /R0
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Unit 5: Financial

1. Patrick purchased a $15000 GIC for 12 years with a simple interest rate of 3.7%. What is his 6IC
worth in 12 years?

2. Wendy sold her acre of land by the river for $35 000, she plans to invest the money for 20 years.
Her options are:
Option A: 20-year bond at 4..5%, compounded semi-annually.
+ Option B: 10-year GIC at 3.1%, compounded semi-annually: reinvest funds in a 10-year GIC at 5.1%
compounded quarterly.
a. Determine the future value of each investment

b. Determine the rate of return (round to the nearest tenth of a percent) for each investment

opl.B

Q =

Mﬂ nt rstiogrs @)

NPLIG) 200 | g (1) 5

" so000( 1 +05 > 0 35000(”""””

350 _/_0.0‘5) LI7(¢0b 5Y Doc),%m
L W oy A- 4760(05(l+ >D

. RSN =y sy f”)’)

$7969>, 5
Indorest
D b= e et

- YH{oRd58
i - sooael - Al 0O S

m
35000 g S a0

a. How much should your parents have invested when you were born if interest rates were 7.3% compounded
monthly if they wished to have 430000 for your 18™ birthday for school

Vi

3

b. Approximately how long would it take for a sum of money to double if it is invested at 9.5%

@»’ﬁ?ﬁ-
(b) DmJOll_ - 14

- y3pool N @
() |

= JH6ORL5S

Sylvia opened this portfolio when she turned 25.

R
((2\ P—(H ﬁ)hj(

4.

Monthly deposits of $275 into an account averaging 5.8%, compounded daily
+ A $10 000 bond earning 8.3%, compounded monthly

What will be the value of the portfolio when she turns 552 Show your work.

. $265906.77
$119583.31
$385490.08
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5.

Barney Rubble regularly deposits $430 per month into a Registered Retirement Savings Plan (RRSP)

for his retirement. How much money will he have when he retires in 23 years, knowing that
the interest rate is 5.1% compounded semi-annually?

TI-84 Plus
&9 TEXAS INSTRUMENTS

$223356.33

6.  Cynthia wants to purchase a used car 12300 plus HST of 13%/a, she can afford monthly payments

of $275 if the car dealer offers her a finance plan of 5.8% compounded daily, how long will it take
her to pay it of f? WP IEXAS INSTRUMENTS

4 !
() 12300 13197

49 pasg )

7. The Wilsons are buying a house that costs $260 000. They will finance the purchase with a 25 year

mortgage with an interest rate of 3.75%, compounded semi-annually. They must make a down
payment of $75000.

a) How much will each payment be? Show your work.

b) How much interest will Debbie end up paying by the time she has paid off the loan? Show your work.
c) How much will she pay alTog?)\er' for the house” Show your work.

260000
75000

ot
452>

(b) %L/% A7 X BXB\S_’/ 21469 s what W

””Mj@m (T B4l - 85000
-¥aq4,g i

C) 9ubo00 s %5000+ 79000 + 79461
( ‘7‘1“!W mur{jar)e &\’;’M’Smk \V\\Uw—‘

W 559469 Ry

/
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8. option A option B
TI-84 Plus
3 TEXAS INSTRUMENTS ] ‘ 3 TExas INSTRUMENTS

payment $746.81 quarterly  payment $248.39 monthly
for 9 years for 9 years

$746.81x4x9 = $26885.16  $248.39x12x9 = $26933.04

\cheaper

[/ payments

/ months

a. 7x$434.30 = $3040.10
b. $40.10 interest

TI-84 Plus
9 . % TEXAS INSTRUMENTS

26
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